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1. The Portuguese contributed many things to Kerala. In the following, which one is 
not a contribution of the Portuguese ?

i) They promoted scientific cultivation of pepper and ginger.    

ii) They founded theological seminaries and colleges at Cochin, Angamali and 
Vaipincotta. 

iii) They built the Bolgatty Palace at Kochi.   

iv) They introduced new agricultural products like tobacco, pineapple, papaya etc.

A) i B) ii C) iii d) iv

2. Some of the administrative reforms of Rani Sethu lakshmi Bai of Travancore is 
given. Arrange them in Chronological order.

i) Abolished devadasi System.    

ii) The city of Thiruvananthapuram was illuminated with electric lights. 

iii) Animal sacrifice was banned.   

iv) Introduced patrilineal nuclear family system.

A) iii, ii, i, iv B) iii, i, iv, ii C) i, iii, ii, iv d) i, iv, iii, ii

3. match the following Presidents of the Indian National Congress with the years of 
their Presidentship :

  List – I List – II

a) Hakim Ajmal Khan 1)  1924

b) Abul Kalam Azad 2) 1921

c) mahatma Gandhi 3) 1931

d) Vallabhbhai Patel 4) 1923 

A) a – 1, b – 3, c – 2, d – 4 B) a – 3, b – 1, c – 4, d – 2 

C) a – 4, b – 3, c – 1, d – 2 d) a – 2, b – 4, c – 1, d – 3

4. The Indian News Papers and its founders are given below. Find the incorrect pair 
from them.

1) Bengal Gazette –  James Augustus Hicky

2) Samvad Kaumudi – Raja Ram mohan Roy

3) Hindu Patriot – madhusudan Ray

4) mirat-Ul-Akbar – Firoz Shah mehta

A) 1 B) 2 C) 3 d) 4
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1. SkL¡\ÿOY}yOWL¡ SWqt¾]jV iLqLtU yUnLvjW¥ j¤W]. fLRuÕrpOÐvp]¤, 
SkL¡\ÿOY}yOWLqORa yUnLvjpsæL¾fV JfLeV ?

i) Av¡ WOqOoOtW]R£pOU Cµ]pORapOU wLNñ}p WQx] SNkLÃLz]Õ]\ÿO.   

ii) Av¡ RWL\ÿ], AËoLs], RRvÕ]¢SWLŸ IÐ]v]a°t]¤ RRhvwLNñ Ryo]jLq]WtOU 
SWLSt^OWtOU òLk]\ÿO. 

iii) Av¡ RWL\ÿ]p]¤ SmL¥YLŸ] RWLŸLqU ke]fO.   

iv) kOWp]s, RRkjLÕ]¥, kÕLp fOa°]p kOf]p WL¡x]W D¤ÕÐ°¥ Av¡  
Avfq]Õ]\ÿO.

A) i B) ii C) iii d) iv

2. f]qOv]fLUWPr]Rs rLe] SyfO sƒÜ]mLp]pORa \]s nqekq]ëLq°¥ \OvRa  
v]vq]¨OÐO. Av WLsNWo¾]¤ NWo}Wq]¨OW.

i) ShvhLy] yNÒhLpU j]¡¾sL¨].    

ii) f]qOvjÍkOqU jYqU RRvh|Of h}k°tL¤ NkWLw kPq]foLp]. 

iii) oQYms] j]SqLi]\ÿO.   

iv) k]fQfs AeOWOaOUm yNÒhLpU Avfq]Õ]\ÿO.

A) iii, ii, i, iv B) iii, i, iv, ii C) i, iii, ii, iv d) i, iv, iii, ii

3. CÍ|¢ jLxe¤ SWL¦NYy]R£ fLRuÕrpOÐ Nky]c£OoLRq AvqORa Nky]c£]
x]Õ]R£ v¡x°tOoLp] RkLqO¾RÕaO¾OW.

  List – I List – II

a) z¨]U A^Vo¤ XL¢ 1)  1924

b) AmO¥ WsLU ByLhV 2) 1921

c) ozLÄLYLÌ] 3) 1931

d) vsænLpV kSŸ¤ 4) 1923   

A) a – 1, b – 3, c – 2, d – 4 B) a – 3, b – 1, c – 4, d – 2 

C) a – 4, b – 3, c – 1, d – 2 d) a – 2, b – 4, c – 1, d – 3

4. CÍ|¢ kNf°tOU Af]R£ òLkWqOU fLRu RWLaO¨OÐO. Avq]¤ j]ÐV RfãLp 
S^Lc] WRº¾OW.

1) mUYL¥ YyãV –  R^p]UyV AYðyV z]¨]

2) yUvLhV WToOh] – qL^LrLU SoLz¢ SrLpV

3) z]ÎO kLNa]pŸV – oiOyPh¢ Sr

4) o]rL¾V&D¤&AWVm¡ – l]SrLyV xL So¾

A) 1 B) 2 C) 3 d) 4
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5. Assertion (A) : China announced ‘Panda diplomacy’ with the USA and Europe, as  
symbols of friendship and goodwill by gifting Pandas.

  Reason (R) :  China announced ‘Ping Pong Diplomacy’ to establish official 
diplomatic relations with the USA and sent Table Tennis Teams.

A) Both Assertion (A) and Reason (R) are true and (R) is the correct explanation of (A)

B) Both (A) and (R) are true but (R) is not a correct explanation of (A) 

C) (A) is true and (R) is false  

d) (A) is false and (R) is true

6.  “Jana Shakti  : A Collective Power”, a thematic exhibition held at the National Gallery 
of modern Art in delhi, in may 2023. Which statement(s) is/are incorrect regarding 
that ? 

i) It marked the 150th episode of the ‘mann Ki Baat’, monthly radio broadcast 
programme of the Prime minister.    

ii) The exhibition celebrates the artistic diversity of India. 

iii) The “Swachh Bharat” theme was depicted as ‘A Art’ and exhibited there. 

iv) Artistic representation of 20 themes were exhibited there.

A) i and iv B) ii and iii C) i and ii d) iii and iv

7. Which among the following is not a part of West Coastal Plain of India ?

A) Konkan Plain   B) Kathiawar Peninsula

C) Kachchh Plain   d) Utkal Plain

8. Find out the wrong statement about Westerlies.

A) These winds blow from North-west to South-east in Southern Hemisphere. 

B) They blow opposite to the trade winds.

C) These winds blow as roaring forties between the latitudes of 40 degrees to  
50 degrees in Northern Hemisphere. 

d) The effect of these winds is broken in Eastern Asia by the monsoon.

9. The thickness of ozone concentration in a column of air is recorded in

A) dobson unit   B) lux

C) Beaufort scale   d)  Parts per thousand

10. Identify the true statements about the interior structure of earth. 

i) Core is the deepest and most inaccessible zone.    

ii) mantle is mainly composed of iron and nickel. 

iii) mohorovic discontinuity separates lower crust from mantle. 

iv) The average density of the outer crust is 12.3.

A) i and iii B) iii and iv C) ii and iii d) i and iv
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5. AvWLwvLhU (A) : kLºWRt yÚLj]\ÿORWLºV yTzQh¾]R£pOU yTzL¡Ç¾]
R£pOU Nkf}WoLp] RR\j pO. IyV. I. pOU pPSrLÕOoLpOU 
"kLº jpfNÍU' NkX|Lk]\ÿO.

WLqeU (R) :  pO. IyV. I.pOoLp] KTSh|LY]W jpfNÍ mÌU òLk]¨L¢ RR\j 
"k]UYV SkL‚V jpfNÍU' NkX|Lk]¨OWpOU Sam]¥ RaÐ}yV  a}o]Rj 
Ap¨OWpOU R\pÅO.

A) vLhvOU (A) WLqevOU (R) wq]pLeV, (R) IÐfV (A) pORa wq]pLp v]wh}WqeoLeV
B) (A), (R) IÐ]v wq]pLeV, IÐL¤ (A) pORa wq]pLp v]wh}WqeU (R) Asæ  
C) (A) wq]pOU (R) RfãOoLeV  
d) (A) RfãOU (R) wq]pOoLeV

6.   2023 RopV oLy¾]¤ c¤z]p]Rs jLxe¤ YLsr] KLlV SoLSc¦ B¡Ÿ]¤ jaÐ KqO  
f}oLã]WV IWõ]m]xjLeV ""^jw©] : I WtWVã}vV kv¡''. Cf]Rj yUmÌ]\ÿV JfV 
NkñLvj (W¥) RfãLeV ? 

i) NkiLjoNÍ]pORa Nkf]oLy Src]SpL NkSƒke kq]kLa]pLp "o¢ W] mL¾]'R£ 
150&LU IÕ]SyLcLp]qOÐO CfV.    

ii) IWõ]m]x¢ CÍ|pORa WsL RRvv]i|R¾ BSZLx]¨OÐO. 

iii) ""y~±V nLqfV '' f}U "KqO Ws' Bp] \]Nf}Wq]\ÿV Av]Ra Nkh¡w]Õ]\ÿO. 

iv) 20 f}oOWtORa WsLkqoLp Nkf]j]iLjU Av]Ra Nkh¡w]Õ]\ÿO.

A) i and iv B) ii and iii C) i and ii d) iii and iv

7.  fLRuÕrpOÐvp]¤ JfLeV CÍ|pORa ka]´Lr¢ f}q yofs¾]R£ nLYosæL¾fV ?

A) RWLË¦ yofsU   B) W¾]pvL¡ Rkj]¢yOs

C) W\ÿV yofsU   d) DfVW¤ yofsU

8. RvSð¡s}y]Rj¨Or]\ÿOç RfãLp NkñLvj WRº¾OW.
A) CT WLãV Rf¨¢ A¡ÈSYLt¾]¤ va¨V ka]´LrV j]ÐV Rf¨V W]uS¨LŸV v}wOÐO.
B) AfV v|LkLq WLã]jV If]qLp] v}wOÐO.
C) va¨¢ A¡ÈSYLt¾]¤ 40 c]NY] oOf¤ 50 c]NY] vRqpOç AƒLUw°¥¨]a]p]¤ 

CT WLãV Y¡²]¨OÐ SlL¡Ÿ}yV Bp] v}wOÐO.  
d) o¦yP¦ oPsU W]u¨¢ Jx|p]¤ WLã]R£ NknLvU fW¡Ð]q]¨OÐO.

9. vLpOv]R£ j]qp]Rs KLSyL¦ yLNÎfpORa WjU ________ ¤ SqXRÕaO¾OÐO.
A) ScLmVy¦ pPe]ãV  B) sWVyV
C) m|PSlL¡ŸV RØp]¤  d)  kL¡aVyV Rk¡ fTy¢cV

10. nPo]pORa BÍq]W ZajRp¨Or]\ÿOç pgL¡À NkñLvjW¥ f]q]\ÿr]pOW. 

i) JãvOU BuSor]pfOU BWõyV R\áL¢ Wu]pL¾fOoLp SoXspLeV WLÒV.  

ii) BvqeU NkiLjoLpOU CqOÒOU j]¨sOU S\¡ÐfLeV. 

iii) RoLSzLSrLv]WV v]qLoU fLuVÐ kOrUSfLaV Bvqe¾]¤ j]ÐV Sv¡f]q]¨OÐO. 

iv) kOrUSfLa]R£ wqLwq] yLNÎf 12.3 BeV.

A) i and iii B) iii and iv C) ii and iii d) i and iv



41/24 – M 

a -6- 

11. Which among the following is not a tributary of Chalakkudy River ?

A) Kuriarkutty B) Sholayar C) Kothayar d) Karappara 

12. Identify the scientific satellite launched by ISRO on January 1, 2024 to carry out the 
research in space based polarization measurements of x-ray emission from celestial 
sources. 

A) dS-SAR B) XPoSat  C) Aditya-l1 d) RISAT-2BR1

13. Which of the following statement(s) is/are correct about development banks as 
gap fillers in the economy ?

i) Catalysts of industrial development.    

ii) Provide channels of capital, enterprise and management. 

iii) Offers medium-term, long-term, and short-term finance to entrepreneurs. 

iv) Offer a package of financial and non-financial assistance.

A) Only (i and iii)   B) Only (iii and iv) 

C) Only (i, ii and iv)   d) All of the above (i, ii, iii and iv) 

14. WTO terminology : agricultural subsidies are identified as boxes. So human 
development issues in developing countries come under

A) Blue Box and S&d Box B) Green Box and Amber Box 

C) Green Box   d) S&d Box

15. Which of the following statements are correct about registered taxpayers under GST ?

i) E-payment can be done through cards and UPI.    

ii) Registration is to be given by the central tax authority on a common e-application.

iii) A person having multiple businesses in a State may obtain separate registrations 
for each business. 

A) Only (i and iii)   B) Only (i and ii)

C) Only (ii and iii)   d) All of the above (i, ii and iii)

16. The introduction of new economic policy in the Indian economy has accepted the 
challenges of facing globalization in India. Which statement is correct about the 
devaluation of the Indian rupee to make international adjustments ?

i) Nearly 20 percent.    

ii) Between 5 percent to 15 percent.

iii) more than 20 percent.

A) Only (i and ii) B) Only (i) C) Only (ii and iii) d) Only (i and iii)
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11. fLRu krpOÐvp]¤ JfLeV \Ls¨Oa] jh]pORa SkLxWjh] AsæL¾fV ?

A) WOq]pL¨Oã] B) SxLtpL¡ C) SWLfpL¡ d) WLqÕLr 

12. XSYLt SNyLfôOWt]¤ j]ÐOç IWõV&Sr Dh~oj¾]R£ mz]qLWLwR¾ Aa]òLjoL¨]
pOç NiOv}Wqe AtvOWt]¤ YSvxeU ja¾L¢ 2024 ^jOvq] 1&jV  ISRO v]Sƒ 
k]\ÿ wLNñ}p DkNYzU f]q]\ÿr]pOW. 

A) dS-SAR B) XPoSat  C) Aditya-l1 d) RISAT-2BR1

13. yÒhVv|vòp]Rs v]avV j]W¾sOWtLp] v]Wyj mLËOWRt yUmÌ]\ÿV 
fLRuÕrpOÐ JfV NkñLvj(W¥) BeV wq] ?

i) v|LvyLp]W v]Wyj¾]R£ DS¾^W°¥.  

ii) oPsijU, I£¡RRNkyV, oSj^VRo£V IÐ]vpORa \LjsOW¥ j¤WOW. 

iii) yUqUnW¡¨V Ca¾qU, h}¡ZWLs, Nzy~WLs ijyzLpU vLYVhLjU R\áOÐO.  

iv) yLÒ¾]WvOU yLÒ¾]SWfqvOoLp yzLp¾]R£ KqO kLS¨ V̂ vLYVhLjU R\áOW.

A) Only (i and iii)   B) Only (iii and iv) 

C) Only (i, ii and iv)   d) oOWt]sOçvRpsæLU (i, ii, iii and iv) 

14. WTO Ra¡o]SjLt^] : WL¡x]W ymVy]c]W¥ RkŸ]WtLp] f]q]\ÿr]pRÕaOÐO. Af]jL¤ 
v]Wy~q qL^|°t]Rs oLjv v]Wyj NkwÔ°¥ ________ BeV.

A) j}s RkŸ]pOU IyV &c] RkŸ]pOU B) k\ÿ RkŸ]pOU BÒ¡ RkŸ]pOU 

C) k\ÿ RkŸ]  d) IyV &c] RkŸ]

15. GST- V̈ W}u]¤ q^]ð¡ R\pÅ j]WOf]hLpWRq yUmÌ]\ÿV fLRuÕrpOÐ NkñLvjWt]¤ 
JfLeV wq] ?

i) WL¡cOWt]Ss¨OU UPIp]Ss¨OU keoaàLU.  
ii) KqO RkLfO C&Bkæ]S¨xj]¤ Ry¢Na¤ aLWõV ASfLr]ã]pLeV q^]SNy›x¢ j¤SWºfV.
iii) KqO yUòLj¾V KÐ]si]WU m]y]jyOW¥ Dç KqO v|©] V̈ KLSqL m]y]jy]jOU 

RvSvÿRr q^]SNy›x¢ SjaLU. 

A) Only (i and iii)   B) Only (i and ii)

C) Only (ii and iii)  d) oOWt]sOçvRpsæLU (i, ii and iii)

16. CÍ|¢ yÒhVv|vòp]¤ RWLºV vÐ kOf]p yLÒ¾]W jpU CÍ|p]¤ BSYLt 
v¤¨qeU Sjq]aOÐ RvsæOv]t]WRt y~}Wq]\ÿO RWLºLeV. AÍLqLNì NWo}Wqe°¥ 
¨Lp] CÍ|¢ qPkpORa oPs|¾W¡\ÿ yUmÌ]\ÿV JfV NkñLvjpLeV wq] ?

i) JWShwU 20 wfoLjU.   

ii) 5 wfoLjU oOf¤ 15 wfoLjU vRq.

iii) 20 wfoLj¾]si]WU.

A) Only (i and ii) B) Only (i) C) Only (ii and iii) d) Only (i and iii)
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17. In which committee recommendations were the major changes in direct and indirect 
tax policies in India accepted ?
A) Chelliah Committee   B) Narasimham Committee 
C) Sen Committee   d) Kelkar Committee

18. The most difficult task of modern Indian planning is
A) Plan preparation   B) Target fixation 
C) Mobilisation of financial resources D) None of these

19. Which one of the following statement is not correct about Fundamental Rights ?
A) Fundamental Rights are justiciable in character.
B) Fundamental Rights are enumerated in Part IIIrd of Indian Constitution.
C) Right to Property is not a Fundamental Right.
d) Article 51-A deals with Right to Education.

20. match the following :
1) Article 356 a)  Presidents Rule in States
2) Article 325 b) Universal Adult Franchise
3) Article 76 c) Attorney General of India

4) Article 368 d) Amendment procedure of Constitution

 Select the correct codes from below.

1 2 3 4

A) a b c d

B) a c d b

C) c a b d

d) d b c a

21. Identify the correctly matched facts below. 
1) 44th Constitutional Amendment Act  –  Right to Property    
2) 86th Constitutional Amendment Act –  Right to Education
3) 42nd Constitutional Amendment Act –  mini Constitution
4) 91st Constitutional Amendment Act –  Anti defection law
A) Only (1)   B) Only (1) and (2)

C) Only (1), (2) and (3)   d) All are correct

22.  In which Constitutional Amendment Act reserves one-third of all seats for women in 
lok Sabha, State legislative Assemblies and legislative Assembly of the National 
Capital Territory of delhi ?
A) Constitution 106th Amendment Act, 2023
B) Constitution 104th Amendment Act, 2019
C) Constitution 101st Amendment Act, 2016
d) Constitution 103rd Amendment Act, 2019
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17. CÍ|p]Rs Nkf|ƒ, kSqLƒ j]WOf] jp°t]Rs NkiLj oLã°¥ JfV WÚ]ã]pORa 
wOkL¡wWtLeV AUY}Wq]\ÿfV ?
A) R\sæá WÚ]ã]  B) jqy]UzU WÚ]ã] 
C) Ry¢ WÚ]ã]  d) SW¤¨¡ WÚ]ã]

18. BiOj]W CÍ|¢ ByPNfe¾]R£ JãvOU NkpLySor]p hTf|U 
A) kæL¢ fáLrL¨¤  B) sƒ|U j]ép]¨¤ 
C) yLÒ¾]W SNyLfôOWtORa yoLzqeU d) CvRpLÐOosæ

19. oTs]WLvWLw°Rt yUmÌ]\ÿV fLRukrpOÐvp]¤ JfLeV wq]psæL¾fV ?
A) oTs]WLvWLw°¥ y~nLv¾]¤ j|LpoLeV.
B) CÍ|¢ nqeZajpORa oPÐLU nLY¾]¤ oTs]WLvWLw°¥ SqXRÕaO¾]p]ŸOºV.
C) y~¾vWLwU oTs]WLvWLwosæ.
d) B¡Ÿ]¨]¥ 51-A v]h|Ln|Ly¾]jOç AvWLwR¾¨Or]\ÿV Nkf]kLh]¨OÐO.

20. S\qOUka] S\¡¨OW.
1) B¡Ÿ]¨]¥ 356 a)  yUòLj°t]¤ qLNìkf]nqeU
2) B¡Ÿ]¨]¥ 325 b) yL¡vNf]W oOf]¡ÐvqORa NlLRRµy]
3) B¡Ÿ]¨]¥ 76 c) CÍ|pORa ASãL¡e] ^jr¤
4) B¡Ÿ]¨]¥ 368 d) nqeZajL SnhYf] jaka]NWoU

fLRu j]ÐV wq]pLp SWLcOW¥ RfqR´aO¨OW.

1 2 3 4
A) a b c d
B) a c d b
C) c a b d
d) d b c a

21. fLRu RWLaO¾]ŸOçf]¤ wq]pLp] SpL^]¨OÐ vñOfW¥ f]q]\ÿr]pOW. 
1) 44-LU nqeZajL SnhYf] j]poU  –  y~¾vWLwU    
2) 86-LU nqeZajL SnhYf] j]poU  –  v]h|Ln|Ly¾]jOç AvWLwU
3) 42-LU nqeZajL SnhYf] j]poU  –  o]j] nqeZaj
4) 91-LU nqeZajL SnhYf] j]poU  –  WPrOoLã v]qOÈ j]poU
A) Only (1)   B) Only (1) and (2)

C) Only (1), (2) and (3)   d) IsæLU wq]pLeV

22. JfV nqeZajL SnhYf] j]po¾]sLeV Shw}p fsòLj NkShwoLp c¤z]p]Rs 
SsLWVynp]sOU yUòLj j]poynWt]sOU IsæL y}ãOWtORapOU oPÐ]RsLÐV Nñ}W¥ 
¨Lp] j}¨]v\ÿ]q]¨OÐfV ? 
A) nqeZaj 106-LU SnhYf] j]poU, 2023
B) nqeZaj 104-LU SnhYf] j]poU, 2019
C) nqeZaj 101-LU SnhYf] j]poU, 2016
d) nqeZaj 103-LU SnhYf] j]poU, 2019
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23. Which of the following statement(s) is/are correct in relation to the Judgement of 
Electoral Bond Scheme Case ? 
1) On February 2024 Supreme Court struck down Electoral Bond Scheme as 

unconstitutional.    
2) The Electoral Bond Scheme violates the right to information and freedom of 

speech and expression under Article 19 (1) (a) of Indian Constitution.
3) The court rules that the Amendment to the Companies Act which allows blanket 

corporate political funding is unconstitutional. 
A) Only (1) B) Only (1) and (2) C) Only (2) d) All of the above

24. Which one of the following statement is correct about Elections in India ?
A) The Election Commission of India is appointed by the Chief Justice of Supreme 

Court.
B) Articles 324 to 329 of Part XV of the Constitution lays out the legal-constitutional 

framework for holding elections in India.
C) Articles 352 to 360 of Part XVIII also deals with Election framework in India.
D) There are five full time Commissioners in Election Commission of India.

25. Consider the following statements related with Kerala Administrative Service (KAS) 
and find out which of these are true.
1) The objective of KAS is to build a cadre of public servants as a second line of 

managerial talent for Government for effective implementation of Government 
Policies and Programmes.    

2) KAS consist of – KAS Officer (Junior Time Scale) KAS Officer (Selection Grade 
Scale) KAS Officer (Super Time Scale) – Officers.

3) An Officer joining the KAS shall start his career in the Junior Time Scale Trainee 
in the State Service. 

A) Only (1)   B) Only (2) 
C) All of these are correct  d) Only (2) and (3)

26. Primary objective of ‘The Kerala Stay of Eviction Proceedings Act, 1957’ was
A) To provide agricultural assistance to cultivators   
B) To give relief to Janmis
C) To give compensation to landlords who loss land due to agricultural reforms 
d) To stay eviction of tenants, kudikidappukars and certain other classes of persons 

cultivating land

27. Which of the following statement(s) is/are correct about Kudumbasree ?
1) Kudumbasree was set up in 1997. 
2) Kudumbasree has a three tier setup for its women community network with  

NHGs, AdS and CdS.
3) Kudumbasree is the poverty eradication and women empowerment programme 

implemented by the State Poverty Eradication mission of Government of Kerala.

A) All of the above B) Only (2) and (3) C) Only (1) and (2) d) Only (2) 
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23. CsWVar¤ SmLºV Ø}U SWy]R£ v]i]pOoLp] mÌRÕŸV fLRuÕrpOÐ NkñLvj(Wt])¤ 
JfLeV wq] ? 
1) 2024 RlNmOvq]p]¤ yONk}U SWLaf] CsWVar¤ SmLºOWtORa kÈf] nqeZajL  

v]qOÈoLReÐV WRº¾].    
2) CsWVar¤ SmLºV kÈf] CÍ|¢ nqeZajpORa B¡Ÿ]¨]¥ 19 (1) (a) NkWLqoOç 

v]vqLvWLwvOU An]NkLpNkWaj y~LfNÍ|vOU sUZ]¨OÐO.
3) mæLSËãV SWL¡ÕSrãV qLNì}p lº]UYV AjOvh]¨OÐ WÒj] j]po¾]Rs SnhYf] 

nqeZajL v]qOÈoLReÐV SWLaf] v]i]¨OÐO. 
A) Only (1) B) Only (1) and (2) C) Only (2) d) IsæLU wq]pLeV

24. CÍ|p]Rs RfqR´aOÕ]Rj yUmÌ]\ÿV fLRuÕrpOÐ NkñLvjWt]¤ JfLeV wq] ?
A) yONk}U SWLaf] \}lV ^ð]yLeV CÍ|¢ f]qR´aOÕV WÚ}xRj j]po]¨OÐfV.
B) nqeZajpORa XV-Rs B¡Ÿ]¨]¥ 324 oOf¤ 329 vRq CÍ|p]¤ f]qR´aOÕV 

ja¾OÐf]jOç j]po&nqeZajL \Ÿ¨PaV Nkf]kLh]¨OÐO.
C) nLYU XVIII&Rs B¡Ÿ]¨]¥ 352 oOf¤ 360 vRq CÍ|p]Rs f]qR´aOÕV \Ÿ¨Pa]Rj 

WOr]\ÿOU Nkf]kLh]¨OÐO.
d) CÍ|¢ f]qR´aOÕV WÚ}xj]¤ AµV oOuOv¢ yop WÚ}xe¡oLqOºV.

25. SWqt AcVo]j]SNy›ã}vV y¡v}yO (KAS) oLp] mÌRÕŸ fLRuÕrpOÐ NkñLvjW¥ 
kq]Ye]¨OWpOU Cvp]¤ JfLeV wq]RpÐV WRº¾OWpOU R\áOW.
1) Yv¦Ro£V jp°tOU kq]kLa]WtOU lsNkhoLp] jaÕ]sL¨OÐf]jLp]  

Yv¦Ro£]R£ oLSj^¡ Wu]vOWtORa qºLU j]qpLp] RkLfOSyvWqORa KqO SWc¡ 
DºL¨OW IÐfLeV  KAS R£ sƒ|U.   

2) KAS – ¤ KAS KLl}y¡ (Junior Time Scale) KAS KLl}y¡ (Selection Grade Scale) 
KAS KLl}y¡ (Super Time Scale) IÐ} DSh|LYò¡ D¥RÕaOÐO.

3) KAS – ¤ S\qOÐ KqO DSh|LYò¢ yUòLj y¡v}y]¤ ^Pj]p¡ RRaU RØp]¤ RNap]
j]pLp] Wq]p¡ BqUn]¨OU. 

A) Only (1)   B) Only (2) 
C) CvRpsæLU wq]pLeV  d) Only (2) and (3)

26. 1957 Rs SWqt Sð KLlV Iv]ƒ¢ RNkLy}c]UYVyV BW›]R£ NkLgo]W sƒ|U _____Bp]qOÐO.
A) W¡xW¡ V̈ WL¡x]W yzLpU j¤WL¢   
B) ^Ó]W¥ V̈ Bw~LyU j¤WL¢
C) WL¡x]W kq]ëLq°¥ oPsU nPo] jìRÕaOÐ nPvOaoW¥ V̈ jìkq]zLqU j¤WL¢
d) WOa]pLÓL¡, WOa]¨]aÕOWL¡, nPo] WQx] R\áOÐ oãV \]s v]nLY°¥ IÐ]vRq WOa]

RpLu]Õ]¨OÐfV Sð R\áL¢

27. WOaOUmè}Rp yUmÌ]\ÿV fLRuÕrpOÐ NkñLvjWt]¤ JfLeV/JRfLR¨pLeV wq] ?
1) 1997 sLeV WOaOUmè} òLk]foLpfV. 
2) Nñ}W¥¨Lp] WOaOUmè}¨V Nf]fs (NHGs, AdS and CdS) y²}WqeoOºV.
3) SWqt y¡¨Lq]R£ yUòLj hLq]Nh| j]¡ÚL¡^j o]x¢ jaÕ]sL¨OÐ hLq]Nh| 

j]¡ÚL¡²j, Nñ} wL©}Wqe kq]kLa]pLeV WOaOUmè}.

A) oOWt]sOçvRpsæLU B) Only (2) and (3) C) Only (1) and (2) d) Only (2) 



41/24 – M 

a -12- 

28. Kerala State disaster management Authority is a statutory non-autonomous body 
under the Chairmanship of the
A) Governor of Kerala  B) Chief minister of Kerala
C) Commissioner KSdmA d) dGP of Kerala Fire Force

29. Which one of the following statement is not true about AKSHAyA ? 
A) The mission of Akshaya is to bridge the gap between the ‘information rich and the 

information poor’.
B) Akshaya provides a platform for Government to citizen services through a public-

private partnership. 
C) It serve as an agency of recruitment for local self government.
D) Akshaya provide efficient, transparent and convenient services to the citizens  

through ICT.

30. Protection of Women from domestic Violence Act passed by the Parliament in the year  
A) 2005 B) 2006 C) 2004 d) 2007

31. match the following :
1) XIth Schedule of Constitution  a)  list of functions to be performed by municipalities
2) XIIth Schedule of Constitution b) list of functions to be performed by PRI’s
3) Article 243 A c) State Election Commission
4) Article 243 K d) Gramasabha

1 2 3 4
A) c d b a
B) b d a c
C) a b c d
d) b a d c

32. Which bill of the Kerala legislature got assent from President of India that reserved 
and referred to the presidential assent by the Kerala Governor in the year 2023 ?
A) Kerala University laws (Amendment) Bill, 2022
B) University law Amendment Bill, 2022
C) The Kerala lokayukta (Amendment) Bill, 2022
d) University law Amendment Bill, 2021

33. _________ writ is a judicial remedy in the form of an order to any public authority to 
perform a duty.
A) mandamus B) Prohibition C) Quo-warrento d) Certiorari

34. PmKSy is an important government Scheme related to
A) Social Welfare Programme of Senior Citizens 
B) Water Conservation management
C) literacy Programme
d) Women Empowerment Programme



 41/24 – M

a -13- 

28. SWqt yUòLj hOqÍ j]vLqe ASfLr]ã] ______ Ra Ai|ƒfp]sOç KqO j]poL 
jOyQfosæL¾ y~pUnqe òLkjoLeV.
A) SWqt Yv¡e¡  B) SWqt¾]R£ oOX|oNÍ]
C) KSdmA WÚ}xe¡ d) SWqt lp¡SlLuVyV dGP

29 AƒpRp yUmÌ]\ÿV fLRuÕrpOÐ NkñLvjWt]¤ JfLeV wq]psæL¾fV ?
A) v]vq yÒÐqOU v]vq hq]NhqOU fÚ]sOç v]avV j]W¾OW IÐfLeV Aƒp  

pORa hTf|U.
B) RkLfO&y~WLq| kËLt]¾¾]sPRa y¡¨L¡ oOf¤ kTqÓL¡ vRqpOç 

Syvj°¥¨V Aƒp KqO Svh] j¤WOÐO. 
C) fSÇw y~pUnqe òLkj°tORa r]NWPŸVRo£V J^¢y]pLp] CfV Nkv¡¾]¨OÐO.
d) ICTvu] kTqÓL¡¨V WLq|ƒooLp yOfLq|vOU yTWq|NkhvOoLp Syvj°¥ 

Aƒp j¤WOÐO.

30. YL¡z]W k}cj°t]¤ j]ÐV Nñ}WtORa yUqƒe j]poU kL¡sRo£V kLyL¨]p v¡xU.  
A) 2005 B) 2006 C) 2004 d) 2007

31. S\qOUka] S\¡¨OW.
1) nqeZajpORa XI-LU Rxc|P¥  a)  oOj]y]ÕLs]ã]W¥ j]¡vÿz]S¨º Nkv¡¾j  

  °tORa kŸ]W
2) nqeZajpORa XII-LU Rxc|P¥ b) PRI W¥ j]¡vz]S¨º Nkv¡¾j°tORa kŸ]W
3) B¡Ÿ]¨]¥ 243 A c) yUòLj f]qR´aOÕV WÚ}x¢
4) B¡Ÿ]¨]¥ 243 K d) NYLoyn

1 2 3 4
A) c d b a
B) b d a c
C) a b c d
d) b a d c

32. 2023&¤ SWqt Yv¡e¡ qLNìkf]pORa AjOof] r]y¡vV R\áOWpOU rl¡ R\áOWpOU  
R\pÅ SWqt j]poynpORa JfV m]sæ]jLeV CÍ|¢ qLNìkf]p]¤ j]ÐV AjOof] sn]\ÿfV ?
A) SWqt y¡vWsLwLs j]po°¥ (SnhYf]) m]¤, 2022
B) y¡vWsLwLs j]po SnhYf] m]¤, 2022
C) SWqt SsLWLpO© (SnhYf]) m]¤, 2022
d) y¡vWsLwLs j]po SnhYf] m]¤, 2021

33. _________ r]ŸV IÐfV JRfË]sOU RkLfO Ai]WLq]W¥ V̈ KqO Wao j]¡vz]¨LjOç 
D¾qv]R£ qPk¾]sOç KqO ^Oc}x|¤ Nkf]v]i]pLeV.
A) oL¢coyV B) j]SqLijU C) SW~L-vLrS£L d) yLƒ|kNfU

34. PmKSy _________ oLp] mÌRÕŸ KqO NkiLj y¡¨L¡ kÈf]pLeV.
A) oOf]¡Ð kTqÓLqORa yLoPz|Sƒo kq]kLa] 
B) ^s yUqƒe oLSj^VRo£V
C) yLƒqfL kq]kLa]
d) Nñ} wL©}Wqe kq]kLa]
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35. Which of these statement(s) is/are correct ?
1) mGNREGA launched in 2005.    
2) The primary objective of mGNREGA Scheme is to guarantee 100 days of 

employment to rural households.
3) Wages of mGNREGA must be paid according to the statutory minimum wages 

specified for agricultural labourers in the State under the Minimum Wages  
Act, 1948. 

A) Only (2) and (3) B) Only (1) C) All of the above d) Only (1) and (2)

36. What is the limit of time to get the information regarding the life and liberty of a person 
under RTI ?
A) 30 days from time of request B) 15 days from time of request
C) 24 hours from time of request d) 48 hours from time of request

37. Which one of the statement(s) is/are true to plague ?
i) It is caused by a pathogen called yersinia pestis. 
ii) It is transmitted through mosquito bites. 
iii) Its vectors are fleas.  
iv) Blood stream and lungs are infected.

A) Only (i and ii)   B) Only (iii and iv) 

C) All of the above ( i, ii, iii and iv) d) Only (i, iii and iv)

38. Which one of the statement(s) is/are true to Aardram mission in Kerala ?
i) It aims to upgrade existing PHCs to FHCs. 
ii) It aims to provide Covid-19 vaccine to all people in Kerala State. 
iii) It aims to provide training to the field staff on NCD and CD health issues and 

management.  
iv) It aims to develop facilities for fitness and yoga.

A) Only (i, iii and iv)   B) Only (i, ii and iv) 

C) Only (ii and iii)   d) All of the above

39. Choose the right statement for Angiogenesis. 

A) It is the state of development of cancer cells in bone marrow. 

B) The development of new blood vessels. 

C) The term to define regeneration of hepatocytes in liver.  

d) The process of secretion of growth hormone.

40. Which of the following statement is true to Vitamin A ?

A) Excess consumption of Vitamin A causes development of microcystic anaemia

and Pernicious anaemia.   

B) Pellagra and depression are the two major symptoms related to hypovitaminosis A.

C) Deficiency of Vitamin A causes Night blindness and Xerophthalmia. 

d) Hypervitaminosis A causes softening of the bones in children.
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35. CT NkñLvjWt]¤ JfLeV/JRfLR¨pLeV wq] ?
1) mGNREGA 2005&¤ BqUn]\ÿO.    
2) mGNREGA kÈf]pORa NkLgo]W sƒ|U NYLo}e WOaOUm°¥ V̈ 100 h]vyU RfLu]¤ 

 DrÕL¨OW IÐfLeV.
3) mGNREGA pORa SvfjU1948 Rs o]j]oU Svfj j]poU AjOyq]\ÿV yUòLjR¾ 

W¡xWR¾Lu]sLt]W¥¨V v|©oL¨]p]ŸOç j]pokqoLp o]j]oU SvfjU 
AjOyq]\ÿV j¤WeU. 

A) Only (2) and (3) B) Only (1)  C) oOWt]sOçvRpsæLU  d) Only (1) and (2)

36. v]vqLvWLw j]po¾]jV W}u]sOç KqO v|©]pORa ^}v]fR¾pOU y~LfNÍ|R¾pOU 
WOr]\ÿOç v]vq°¥ sn]¨OÐf]jOç yopkq]i] IÍLeV ?
A) An|¡Àj yopU oOf¤ 30 h]vyU B) An|¡Àj yopU oOf¤ 15 h]vyU
C) An|¡Àj yopU oOf¤ 24 oe]¨P¡ d) An|¡Àj yopU oOf¤ 48 oe]¨P¡

37. SkæY]R£ WLq|¾]¤ JfV NkñLvj(W¥)BeV wq] ?
i) Rp¡y]j]p Rkð]yV IÐ SqLYWLq]pLeV CfV DºL¨OÐfV. 
ii) RWLfOWV Wa]p]sPRapLeV CfV kWqOÐfV.  
iii) Af]R£ vLzW¡ R\çOWtLeV.  
iv) q©NkvLzS¾pOU w~LySWLwS¾pOU mLi]¨OÐO.

A) Only (i and ii)   B) Only (iii and iv) 
C) oOWt]sOçvRpsæLU ( i, ii, iii and iv) d) Only (i, iii and iv)

38. SWqt¾]Rs B¡NhU o]xjOoLp] mÌRÕŸ NkñLvj(Wt])¤ JfLeVV wq] ?
i) j]sv]sOç PHCWRt FHCWtL¨] Dp¡¾LjLeV CfV sƒ|o]aOÐfV. 
ii) SWqt¾]Rs IsæL BtOW¥¨OU SWLv]cV-19 vLWõ]¢ j¤WLjLeV CfV sƒ|o]aOÐfV.
iii) NCd, Cd BSqLY| NkwÔ°Rt¨Or]\ÿOU oLSj^VRo£]Rj¨Or]\ÿOU l}¤cV ðLl]jV kq]

w}sjU j¤WLjLeV CfV sƒ|o]aOÐfV.  
iv) l]ãVjy]jOU SpLYàOoOç yTWq|°¥ v]Wy]Õ]¨OWpLeV sƒ|U.

A) Only (i, iii and iv)   B) Only (i, ii and iv) 

C) Only (ii and iii)   d) oOWt]sOçvRpsæLU

39. B¢^]SpLR^j]y]y]jOç wq]pLp NkñLvj f]qR´aO¨OW. 
A) Aò]o²p]Rs WL¢y¡ SWLw°tORa v]WLy¾]R£ AvòpLe]fV. 
B) kOf]p q©¨OusOWtORa v]WyjU.  
C) Wqt]Rs RzÕSãLRRyãOWtORa kOjqO²}vjR¾ j]¡v\]¨OÐ khU.  
d) vt¡\ÿL SzL¡SoL¦ Nyv]¨OÐ NkNW]p.

40. fLRuÕrpOÐvp]¤ JfLeV v]ãLo]¢ A pORa WLq|¾]¤ wq] ?

A) v]ãLo]¢ A pORa Ao]foLp DkSpLYU RRoSNWLy]ð]WV Aj}o]pàOU v]jLwWqoLp 
Aj}o]pàOU WLqeoLWOÐO.    

B) RRzSÕLv]ão]SjLy]yV  A pOoLp] mÌRÕŸ qºV NkiLj sƒe°tLeV RksæNYpOU 
v]xLhvOU.

C) v]ãLo]¢ A pORa WOrvV qLNf] AÌfàOU y}SrLlVfL¤o]pàOU WLqeoLWOÐO. 

d) RRzÕ¡v]ão]SjLy]yV A WOŸ]Wt]¤ Aò]WRt oQhOvL¨OÐO.
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41. Which one of the statement(s) is/are true to the Pancreas ?

i) Pancreas is an exocrine and endocrine gland. 

ii) Pancreas secretes both insulin and glucagon. 

iii) It regulates glucose level.  
iv) All of the above (i, ii and iii)

A) Only (i and iii) B) Only (ii and iii) C) Only (ii) d) Only (iv)

42. Choose the correct reason for life style diseases in human.

i) Bad food habits   ii) Physical inactivity  

iii) disturbed biological clock  iv) Wrong body posture

A) Only (ii and iii) B) Only (i and iii) C) Only (i, ii and iv) d) All of the above

43. Primary Amoebic meningoencephalitis is caused by

A) Naegleria fowleri  B) Amoeba proteus 

C) Paramoeba perniciosa d) All of the above

44. Which of the following statements regarding isolation during COVId-19 is/are correct ?
i) It is used for people suffering from COVId-19 symptoms or who have tested 

positive for the virus.
ii) In isolation means being separated from other people, mainly in a medical facility

where you can receive clinical care.

A) Only (i) B) Only (ii) C) Both (i and ii) d) Neither (i) nor (ii)

45. Name the phenomenon where electrons are emitted from a material when it is 
exposed to light of sufficiently high frequency.

A) Photoelectric effect B) Compton effect C) doppler effect d) Hall effect

46. The phenomenon that explains the separation of light into its constituent colors when 
passing through a prism is 

A) Reflection B) Refraction  C) Dispersion D) Diffraction 

47. Which of the following electromagnetic radiation has the longest wavelength ? 

A) Infrared B) Ultraviolet  C) X-rays d) Gamma rays

48. Which rocket is used in Aditya-l1 ?

A) PSlV-G51 B) PSlV-C51  C) PSlV-C57 d) PSlV-l57

49. Which statement(s) is/are correct regarding chemical bonding ?
I) Ionic bond is formed between electropositive element and electronegative element.

II) Covalent bonding is formed between electronegative element and electronegative 
element.

III) Coordinate bond is formed between electropositive and electropositive element.
IV) metallic bonding is formed between electropositive and electropositive element.

A) I only B) I and II only C) I, II and IV only d) All of the above
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41. kL¢NW]pLyOoLp] mÌRÕŸ NkñLvj(W¥)¤ JfLeV/JRfLR¨pLeV wq] ?
i) kL¢NW]pLyV KqO ISWõLRRNW¢ NYÏ]pOU I¢ScLRRNW¢ NYÏ]pOoLeV. 
ii) kL¢NW]pLyV C¢yOs]jOU YæPS¨LSYLeOU yQì]¨OÐO. 
iii) CfV YæPS¨Ly]R£ AtvV j]pNÍ]¨OÐO.  
iv) oOWt]sOçvRpsæLU (i, ii and iii)

A) Only (i and iii) B) Only (ii and iii) C) Only (ii) d) Only (iv)

42. ojOx|q]Rs ^}v]fRRws] SqLY°tORa wq]pLp WLqeU f]qR´aO¨OW.
i) SoLwU nƒe w}s°¥  ii) wLq}q]W j]xVNW]pf~U  

iii) Ay~òoLp RR^v Za]WLqU  iv) RfãLp wq}q nLvU
A) Only (ii and iii) B) Only (i and iii) C) Only (i, ii and iv) d) oOWt]sOçvRpsæLU

43. NkLgo]W Ao}m]WV Roj]USYL I¢RylRRsã]yV _______ oPsoLeV DºLWOÐfV.
A) RjSYæq]p lTSsq]  B) Ao}m SNkLŸ]pyV 
C) kLqo}m Rk¡j]y]SpLy d) oOWt]sOçvRpsæLU

44. SWLv]cV-19 WLs¾V KãRÕasOoLp] mÌRÕŸ fLRuÕrpOÐ NkñLvj(W¥)¤ JfLeV / 
JRfLR¨pLeV wq] ?

i) SWLv]cV-19 SqLYsƒe°¥ Dçv¡S¨L RRvry]jV SkLy]ã}vV BpvSqL CfV 
DkSpLY]¨OÐO.

ii) KãRÕa¤ IÐL¤ oãV BtOWt]¤ j]ÐV Sv¡RkaO¾OW, NkiLjoLpOU KqO Roc]¨¤ 
òLkj¾]¤ j]°¥¨V Wæ]j]¨¤ kq]\qeU sn]¨OU.

A) Only (i) B) Only (ii) C) Both (i and ii) d) Neither (i) nor (ii)

45. Bvw|¾]jV Dp¡Ð BvQ¾]p]sOç NkWLw¾]jV v]SipoLWOSÒL¥ Roã}q]ps]¤ 
j]ÐV CsSNW›LeOW¥ kOrRÕaOv]¨OÐ Nkf]nLy¾]jV SkqV j¤WOW.
A) SlLSŸL CsNW›]WV NknLvU  B) SWLUkVã¦ NknLvU 
C) ScLkæ¡ NknLvU  d) zL¥ NknLvU

46. KqO Nk]y¾]sPRa WaÐOSkLWOSÒL¥ NkWLwR¾ Af]R£ ZaW j]r°t]Ss V̈ Sv¡f]
q]¨OÐfV v]wh}Wq]¨OÐ Nkf]nLyU ______ BeV.  
A) Nkf]lsjU B) Akv¡¾jU  C) v]yqeU d) c]NlLƒ¢ 

47. fLRuÕrpOÐvp]¤ JfLeV JãvOU RRh¡Z|Sor]p fqUYRRh¡Z|oOç RRvh|OfWLÍ]W 
v]W]qe°¥ ?  
A) C¢NlLRrcV B) A¥NaLvpsãV  C) IWõV&SrW¥ d) YLoL W]qe°¥

48. Bh]f|-l1¤ DkSpLY]¨OÐ SrL¨ãV JfLeV ?
A) PSlV-G51 B) PSlV-C51  C) PSlV-C57 d) PSlV-l57

49. RWo]¨¤ SmLº]UYV yUmÌ]\ÿV JfV NkñLvj(W¥)pLeV wq] ?
I) CsSNW›LSkLy]ã}vV oPsWvOU CsSNW›LRjYã}vV oPsWvOU fÚ]¤ ASpLe]WV SmLºV  

qPkRÕaOÐO.
II) CsSNW›LRjYã}vV oPsWvOU CsSNW›LRjYã}vV oPsWvOU fÚ]¤ SWLvLs£V SmLº]UYV 

qPkRÕaOÐO.
III) CsSNW›LSkLy]ã}vV, CsSNW›LSkLy]ã}vV oPsW°¥¨]ap]¤ SWL¡c]SjãV SmLº]UYV 

qPkRÕaOÐO.
IV) CsSNW›LSkLy]ã}vV, CsSNW›LSkLy]ã}vV oPsW°¥¨]ap]¤ SsLzSmLº]UYV 

qPkRÕaOÐO.
A) I only B) I and II only C) I, II and IV only d) oOWt]sOçvRpsæLU
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50. Which one of the statement is not correct about Helium ?
A) Helium has lowest boiling point of any substance known. 
B) Helium I is normal liquid and Helium II is super liquid.
C) Helium forms liquid under high pressure.
d) On cooling Helium becomes liquid.

51. Which of the statements are correct regarding solubility ?
I) If the solute and solvents have similar chemical characteristics then the solubility 

is high.
II) Polar compounds are highly soluble in polar solvents.
III) If the solute and solvent have dissimilar chemical properties then the solubility is low.
IV) Polar compounds are highly soluble in non-polar solvents. 
A) I and IV only B) I and II only C) I, II and III only d) All of the above

52. The Indian photojournalist who executed by Taliban ?
A) Farhat Basir Khan   B) Victor George 
C) dar yasin   d) danish Siddiqui

53. Find out correctly matched pairs from the following.
I) Koodiyattam  – mani madhava Chakyar

II) mohiniyattam  –  muzheekkal Pankajakshi
III) Kerala natanam  –  Guru Gopinath
A) I and II B) II and III C) I and III d) I, II and III

54. Find out the correctly matched pair of novels and corresponding major character 
from the following.

I) Bheeman – Randamoozham II) mujeeb – Adujeevitham
III) Chethana – Aarachar   IV) Appu – Odayilninnu
A) II and III B) I and III C) I, II and III d) I, III and IV

55. Find out the pairs in which the original name of the writer correctly matches with 
their pen name.

I) Nandanar – P.C. Ramachandran II) Anand – K. Sachidanandhan
III) T. Ubaid – Abdul Rahman IV) Vilasini – m. K. menon
A) I and II B) II, III and IV C) III and IV d) II and IV 

56. The names of different sports items and number of players are given.  
match the following :
a) Polo k) 9
b) Rugby l) 15
c) Volleyball m) 4
d) Baseball n) 6
A) a – m, b – l, c – n, d – k B) a – l, b – m, c – k, d – n
C) a – k, b – n, c – l, d – m d) a – n, b – k, c – l, d – m
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50. z}s]pR¾ yUmÌ]\ÿV fLRu krpOÐvp]¤ JfLeV wq]psæL¾fV ?
A) Ar]pRÕaOÐ JRfLqO khL¡À¾]R£pOU JãvOU WOr´ f]tj]spLeV z}s]p¾]jV.
B) z}s]pU I yLiLqe NhLvWvOU z}s]pU II KqO yPÕ¡ NhLvWvOoLeV.
C) Dp¡Ð o¡Ç¾]¤ z}s]pU NhLvWoLp] oLrOÐO.
d) feOÕ]¨OSÒL¥ z}s]pU NhLvWoLp] oLrOÐO.

51. sLpWf yUmÌ]\ÿV fLRuÕrpOÐ NkñLvjWt]¤ JfLeV wq] ?
I) sLpj]W¥¨OU sLpW°¥¨OU yoLjoLp qLy y~nLv°tORºË]¤, sLpWf 

Dp¡ÐfLeV.
II) NiOv}p yUpO©°¥ NiOv}p sLpW°t]¤ vtRq sp]¨OÐvpLeV.
III) sLpj]W¥¨OU sLpW°¥¨OU yoLjosæL¾ qLyYOe°tORºË]¤, sLpWf 

WOrvLeV.
IV) NiOv}p yUpO©°¥ NiOv}posæL¾ sLpW°t]¤ vtRq sp]¨OÐvpLeV.  
A) I and IV only B) I and II only C) I, II and III only d) oOWt]sOçvRpsæLU

52. fLs]mL¢ vi]\ÿ CÍ|¢ SlLSŸL S^es]ðV ?
A) l¡z¾V mLy]¡XL¢  B) v]W›¡ S^L¡^V 
C) hL¡ pLy]¢  d) cLj]xV y]Ç]X]

53. fLRuÕrpOÐvp]¤ j]ÐV wq]pLp S^Lc]W¥ WRº¾OW.
I) WPa]pLŸU  – oe] oLiv \LW|L¡

II) SoLz]j]pLŸU  –  oPu]¨¤ kË^Lƒ]
III) SWqt jajU  –  YOqO SYLk]jLgV
A) I and II B) II and III C) I and III d) I, II and III

54. fLRuÕrpOÐvp]¤ j]ÐV wq]pLp] RkLqO¾RÕaOÐ S^Lc] SjLvsOWtOU AjOmÌ 
NkiLj WgLkLNf°tOU WRº¾OW.

I) n}o¢ – qºLoPuU  II) oO^}mV – BaO^}v]fU
III) S\fj – BqL\ÿL¡  IV) AÕO – KLap]¤ j]ÐV
A) II and III B) I and III C) I, II and III d) I, III and IV

55. IuO¾OWLqR£ pgL¡À SkqV AvqORa fPs]WLjLovOoLp] wq]pLp] RkLqO¾RÕaOÐ 
S^Lc]W¥ WRº¾OW.

I) jÎjL¡ – k].y]. qLo\NÎ¢ II) BjÎV  – RW. y\ÿ]hLjÎ¢
III) a]. DRRmhV – AmÉO¥ rùL¢ IV) v]sLy]j] – IU. RW. SoSjL¢
A) I and II B) II, III and IV C) III and IV d) II and IV 

56. v]v]i WLp]W Cj°tORa SkqOU Wt]¨LqORa I¹vOU j¤W]p]q]¨OÐO. 
fLRuÕrpOÐvpOoLp] RkLqO¾RÕaO¾OW.
a) SkLStL k) 9
b) rYVm] l) 15
c) SvLt]SmL¥ m) 4
d) SmyVSmL¥ n) 6
A) a – m, b – l, c – n, d – k B) a – l, b – m, c – k, d – n
C) a – k, b – n, c – l, d – m d) a – n, b – k, c – l, d – m
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57. Select the works of Brahmanandha Sivayogi from the following. 

I) mokshapradeepam   II) Athmavidya

III) Athavidyalekhamala   IV) Brahmasankeerthanam

A) I and III B) I and II C) II and III d) I and IV

58.   Find the correct pair of Nobel laureates of 2023. 

I) Physics  –   Pierre Agostini, Ferenc Krausz, Anne l. Huillier

II) Chemistry  –   Carolyn R. Bertozzi, morten meldal, K. Barry Sharpless

III) literature  –  Jon Fosse

IV) Physiology  –  Svante Paabo

A) I, II and III B) I, II and IV C) I, III and IV d) I, II, III and IV

59. The names of 2024 Padma Awardees are given. Find out the wrong options.

I) Fathima Beevi   II) mithun Chakraborthi

III) Sitaram Jindal   IV) Uma Shankar Pandey

A) I and II B) III Only C) IV Only d) III and IV  

60. On which petition did the Supreme Court declared Section 66A of Information 
Technology Act, 2000 as unconstitutional and struck it down on the grounds of 
curtailment of freedom of speech and expression ? 
A) Sharat Babu digumarti vs Government of delhi 
B) Ekta Kapoor vs State of mP
C) Navtej Singh Johar vs Union of India
d) Shreya Singhal vs Union of India

61. Which of the following statement(s) is/are correct ? 

i) A hub is a multiport repeater.

ii) Routers are expensive than bridges.

iii) Gateways operate only at data link layer. 

A) Only (i and ii)   B) Only (ii and iii)

C) Only (i and iii)   d) All of the above (i, ii and iii)

62. In csv files, the character that separates values is known as the

A) Separator B) delimiter C) Parameter d) Argument

63. The initiative of Kerala Police, in association with ISRA (Information Security Research 
Association), to create awareness among students/teachers/parents on cybersecurity 
and online safety is

A) Stay Safe Online    B) WeProtect 

C) KId Glove   d) webwise 
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57. fLRuÕrpOÐvp]¤ j]ÐV NmùLjÎ w]vSpLY]pORa WQf]W¥ f]qR´aO¨OW. 

I) SoLƒNkh}kU  II) BÄv]h|

III) Afv]h|SsXoLs  IV) NmùyË}¡¾jU

A) I and III B) I and II C) II and III d) I and IV

58. 2023&Rs RjLSm¤ yÚLj S^fL¨tORa wq]pLp S^Lc] WRº¾OW. 
I) nTf]WwLNñU  –  k]pr] ASYLð]j], Rlr¢WV NWTyV, Bj] I¤. zOsæ]p¡

II) qyfNÍU  –  WSqLs]¢ B¡. Rm¡SŸLy], SoL¡Ÿ¢ Ro¤c¤, RW. mLq] xL¡RkæyV
III) yLz]f|U  –  S^L¦ SlLyV
IV) wq}qwLNñU  –  y~LRÍ kLSmL
A) I, II and III B) I, II and IV C) I, III and IV d) I, II, III and IV

59. 2024&Rs kÄ kOqØLq S^fL¨tORa SkqOW¥ j¤W]p]q]¨OÐO. RfãLp KLkVxjOW¥ 
WRº¾OW.

I) lL¾]o m}v]  II) o]gO¢ \NWv¡¾]
III) y}fLrLU ^]¢cL¤  IV) DoLwË¡ kLR¼
A) I and II B) III Only C) IV Only d) III and IV  

60. 2000&Rs C¢l¡Sox¢ RaWVSjLt^] BW›]Rs 66A vWOÕV nqeZajL v]qOÈvOU An]NkLp 
y~LfNÍ|vOU Bv]ëLq y~LfNÍ|vOU zj]¨OÐf]R£ Skq]¤ W¡wjoLp] RvŸ]¨Or\ÿ 
fOoLp] yONk}U SWLaf] NkX|Lk]\ÿfV JfV z¡^]p]sLeV ? 
A) wqhV mLmO h]YOoL¡Ÿ]pOU c¤z] y¡¨LqOU 
B) J©L WkPrOU SðãV KLlV IUk]pOU
C) jvVSf V̂ y]UYV S^LzrOU pPe]p¢ KLlV CÍ|pOU
d) Sèp y]UYLtOU pPe]p¢ KLlV CÍ|pOU

61. fLRuÕrpOÐ NkñLvj(W¥)¤ JfLeV/JRfLR¨pLeV wq] ?
i) zmV KqO o¥Ÿ]SkL¡ŸV r]Õ}ã¡ BeV.
ii) rPŸrOW¥ Nm]cV^OWRt¨L¥ R\sSvr]pfLeV.
iii) SYãVSvW¥ cLãLs]ËV Rsp¡ oLNfU Nkv¡¾]Õ]¨OÐO. 

A) Only (i and ii)   B) Only (ii and iii)

C) Only (i and iii)   d) oOWt]sOçvRpŠLU (i, ii and iii)

62. csv lpsOWt]¤, oPs|°Rt Sv¡f]q]¨OÐ Nkf}WU ________ IÐr]pRÕaOÐO.
A) RyÕSrã¡ B) c]s]o]ã¡ C) kLqo}ã¡ d) B¡YORo£V

63. RRym¡ yOqƒRppOU KL¦RRs¢ yOqƒRppOU WOr] V̂ v]h|L¡À]W¥/Ai|LkW¡/
qƒ]fL¨¥ IÐ]vq]¤ AvSmLiU yQì]¨OÐf]jV ISRA (C¢l¡Sox¢  
RyW|Pq]ã] r]y¡ˆV ASyLy]Spx¢) pOoLp] S\¡ÐV SWqt SkLs}y]R£ yUqUnU 
_______ BeV. 

A) Sð SylV KL¦RRs¢   B) v}RNkLŸWVãV 

C) KId …T  d) RvmVRRvyV
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64. Which of the following statement(s) is/are correct about 5G networks ? 

i) It has ultra high latency.

ii) Peak network data speed up to 20 gigabits per second (Gbps).

iii) It measures in millimetre wave (mm Wave) spectrum.

A) Only (i and ii)   B) Only (ii and iii)

C) Only (i and iii)   d) All of the above (i, ii and iii)

65.  According to Right to Information Act, 2005, the definition given to the term 
“third party” is

A)  a citizen seeking information from a public office that is not directly related to the 
information he or she is seeking.

B)  a person other than the citizen making a request for information and includes a 
public authority.

C)  a person requesting personal information of another person or confidential 
information of any entity.

d)  None of the above

66. What is the meaning of ‘Juvenile’ under the Provisions of Juvenile Justice (Care and 
Protection of Children) Act, 2015 ?

A)  A child below the age of twenty one years

B)  A child below the age of fourteen years

C)  A child below the age of eighteen years for girls and twenty one years for boys 

d)  A child below the age of eighteen years  

67. Which of the statement(s) is/are correct about the maintenance and Welfare of 
Parents and Senior Citizens Act, 2007 ?

i)  Tribunal constituted under the maintenance and Welfare of Parents and Senior 
Citizens Act, 2007 shall be presided over by an officer not below the rank of  
munsiff-magistrate.

ii)  Any senior citizen or a parent, as the case may be, aggrieved by an order of

Tribunal may, within sixty days from the date of the order, prefer an appeal

to the Appellate Tribunal.

iii)  No parties to a proceeding before a Tribunal, constituted under the Act, shall  
be represented by legal practitioners.

A)  Only (ii and iii)   B) Only (i and ii)

C)  All of the above (i, ii and iii) d)  Only (i and iii)
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64. 5G RjãV v¡¨OWRt yUmÌ]̂ V fLRuÕrpOÐ NkñLvjWt]¤ JfLeV/JRfLR¨pLeV wq] ? 

i) Cf]jV vtRq Dp¡Ð Ssã¢y] DºV.

ii) Ry¨¢c]¤ 20 ^]YLm]ãVyV vRq RjãVv¡¨V cLã SvYf (Gbps).

iii) CfV o]sæ]o}ã¡ fqUY Ry×NW› (mm Wave) ¾]sLeV At¨OÐfV.

A) Only (i and ii)   B) Only (ii and iii)

C) Only (i and iii)   d) oOWt]sOçvRpŠLU (i, ii and iii)

65.  v]vqLvWLw j]poU, 2005 AjOyq]ˆV, ""oPÐLU Wƒ]'' IÐ kh¾]jV j¤W]p]q]¨OÐ 
j]¡v\jU

A)  Av¢ ARŠË]¤ Av¥ ASj~x]¨OÐ v]vq°tOoLp] Sjq]ŸV mÌo]ŠL¾ KqO 
RkLfO KLl}y]¤ j]ÐV v]vq°¥ SfaOÐ KqO kTq¢.

B)  v]vq¾]jLp] An|¡Àj ja¾OÐ kTq¢ Ku]RWpOç KqO v|©], WPaLRf KqO 
RkLfO Ai]WLqvOU D¥RÕaOÐO.

C)  KqO v|©] oRãLqO v|©]pORa y~WLq| v]vq°¥ ARŠË]¤ JRfË]sOU 
òLkj¾]R£ qzy| v]vq°¥ An|¡À]¨OÐO.

d)  oOWt]¤ kr´vRpLÐOoŠ

66. 2015&Rs ^OvRRj¤ ^ð]yV (WOŸ]WtORa WqOfsOU yUqƒevOU) j]po¾]Rs  
v|vòW¥ NkWLqU "^OvRRj¤' IÐf]R£ A¡ÀRoÍLeV ?

A)  21 vpô]¤ fLRupOç WOŸ]

B)  14 vpô]¤ fLRupOç WOŸ]

C)  18 vpô]jV fLRupOç Rk¦WOŸ]W¥, 21 vpô]jV fLRupOç B¦WOŸ]W¥ 

d)  18 vpô]jV fLRupOç WOŸ]  

67. 2007&Rs oLfLk]fL¨tORapOU oOf]¡Ð kTqÓLqORapOU kq]kLsjvOU SƒovOU IÐ 
j]poU yUmÌ]ˆ NkñLvj(Wt])¤ JfLeV/JRfLR¨pLeV wq] ? 

i)  2007&Rs oLfLk]fL¨tORapOU oOf]¡Ð kTqÓLqORapOU kq]kLsjvOU SƒovOU 
j]poNkWLqU qPk}Wq]ˆ RRNam|Pe¤ oO¢y]lV o^]SNy›ã]R£ rLË]¤ WOrpL¾ KqO 
DSh|LYò¢ Ai|ƒjLWOU.

ii)  JRfË]sOU oOf]¡Ð kTqSjL, qƒ]fLv]SjL, Na]m|Pes]R£ KqO D¾qv]jL¤ v]xo 
oOºLSp¨LU. D¾qv]R£ f}pf] oOf¤ ArOkfV h]vy¾]jOç]¤, Na]m|Pes]¤ AÕ}¤ 
j¤WLU.

iii)  j]po NkWLqU qPk}Wq]¨RÕŸ, KqO Na]m|Pes]jO oOÒLRWpOç KqO jaka]p]Rs KqO 
Wƒ]RppOU j]po NkLû}xe¡oL¡ Nkf]j]i}Wq]¨OÐfŠ.

A)  Only (ii and iii)   B) Only (i and ii)

C) oOWt]sOçvRpŠLU (i, ii and iii) d)  Only (i and iii)
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 68. Which of the statement(s) is/are correct about the Kerala lok Ayukta Act, 1999 ?

 i)  The lok Ayukta has no jurisdiction under the Act to take any action on the   
subject referred for inquiry under the Commission of Inquiry Act, 1952.

 ii)  The lok Ayukta is required to submit a consolidated report on the performance

  of its activities to the Chief Secretary to Government every year. 

 iii)  The Chief minister of Kerala will appoint a person known as the lok Ayukta to  
conduct investigations and inquiries in accordance with the provisions of the 
lok Ayukta Act.

 A)  Only (i and iii)   B)  Only (ii)  

 C)  Only (i)   d)  All of the above (i, ii and iii)

 69. Which of the following statement(s) is/are correct about Sexual Harassment of 
Women at Workplace (Prevention, Prohibition and Redressal) Act, 2013 ?

 i)  The Presiding Officer and members of the Internal Complaints Committee shall

  hold office for not exceeding three years from the date of their nominations.

 ii)  A Presiding Officer who shall be a woman employed at a senior level shall be 
nominated by the concerned State Government.

 iii)  Any aggrieved woman may make a complaint of sexual harassment at workplace

  to the Internal Complaints Committee within a period of one month from the date 

  of last incident.

 A) Only (i)   B) Only (iii) 

 C)  Only (i and ii)   d)  All of the above (i, ii and iii)

 70.  Which of the following statement is correct regarding the Constitution (One Hundred 
and Fifth Amendment) Act, 2021 ?

 A)  The Amendment relating to the structure, functions and powers of the National 
Commission for Backward Classes.

 B)  The Amendment empowers the State Governments and the Union Territories to 
prepare and maintain a list of socially and educationally backward sections for 
their own purposes. 

 C)  The Amendment extends the reservation of seats for SCs and STs in the lok Sabha 
and State Assemblies from 70 years to 80 years. In addition, reserved seats for the 
Anglo-Indian community in the lok Sabha and State Assemblies were removed.

 d)  In addition to the existing reservation, the Amendment proposes a maximum of 
10 percent reservation in higher education institutions and initial recruitment in 
government posts for the economically weaker sections.
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68. 1999&Rs SWqt SsLWLpO© j]poR¾¨Or]ˆOç NkñLvj(Wt])¤ JfLeV/ 
JRfLR¨pLeV wq] ?

i)  WÚ}x¢ KLlV I¢W~pr] BûV, 1952 NkWLqU ASj~xe¾]jV rl¡ R\pÅ v]xp¾]¤  
IRÍË]sOU jaka]RpaO¨L¢ j]poNkWLqU SsLWLpO©àV Ai]WLqo]Š.

ii)  SsLWLpO© Af]R£ Nkv¡¾j°tORa NkWajR¾¨Or]ˆOç JW}WQf r]SÕL¡ŸV IŠL 
v¡xvOU y¡¨Lq]R£ \}lV RyNWŸr]¨V yo¡Õ]S¨ºfOºV. 

iii)  SsLWLpO© j]po¾]Rs v|vòW¥¨jOyQfoLp] ASj~xe¾]jOU, v]\LqeàOU 
Svº] SsLWLpO© IÐr]pRÕaOÐ KqLRt SWqt oOX|oNÍ] j]po]¨OU.

A)  Only (i and iii)   B)  Only (ii)  

C)  Only (i)   d)  oOWt]sOçvRpŠLU (i, ii and iii)

69. S^Ls]òs¾V Nñ}W¥R¨f]qLp RRsUY]W k}cjU (fap¤, j]SqLijU, kq]zLqU) 
  j]poU 2013 yUmÌ]ˆV fLRu krpOÐvp]¤ JfLeV wq] ?

i)  Nk]RRyc]UYV KLl}yrOU CS£e¤ kqLf] WÚã]p]Rs AUY°tOU jLoj]¡SÇwU  
R\pÅ f}pf] oOf¤ oPÐV v¡x¾]¤ WPaL¾ khv] vz]¨OU.

ii)  y}j]p¡ fs¾]¤ S^Ls] R\áOÐ KqO Nñ}pLp]q]S¨º KqO Nk]RRyc]UYV KLl}
yRr mÌRÕŸ yUòLj y¡¨L¡ jLoj]¡SÇwU R\áOU.

iii)  k}cj¾]j]qpLp JRfLqO Nñ}¨OU Wu]´ yUnvU jaÐ f}pf] oOf¤ KqO oLy¾]
jOç]¤ S^Ls] òsR¾ RRsUY]WLf]NWoU yUmÌ]ˆV BÍq]W kqLf] WÚ]ã]¨V 
kqLf] j¤WLU.

A) Only (i)   B) Only (iii) 

C)  Only (i and ii)   d) oOWt]sOçvRpŠLU  (i, ii and iii)

70.  nqeZaj (jPã]AµLU SnhYf]) j]poU 2021 yUmÌ] V̂ fLRuÕrpOÐ NkñLvjWt]¤ 
JfLeV wq] ?

A)  k]ÐL¨ v]nLY°¥¨LpOç Shw}p WÚ}xR£ Zaj, Nkv¡¾j°¥, Ai]
WLq°¥ IÐ]vpOoLp] mÌRÕŸ SnhYf].

B)  yLoPz]WoLpOU v]h|Ln|LykqoLpOU k]ÐL¨U j]¤¨OÐ v]nLY°tORa kŸ]W  
fáLrL¨LjOU kq]kLs]¨LjOU yUòLj y¡¨LqOW¥¨OU SWNÎnqe NkShw°¥¨OU 
CT SnhYf] Ai]WLqU j¤WOÐO. 

C)  SsLWVynp]sOU yUòLj AyU‡]Wt]sOU IyVy], IyVa] y}ãOWtORa yUvqeU 
70 v¡x¾]¤ j]ÐV 80 v¡xoLp] j}ŸOÐfLeV SnhYf]. WPaLRf SsLWVynp]sOU 
yUòLj AyU‡]Wt]sOU BUS…L CÍ|¢ WÚ|Pe]ã]¨Lp] yUvqeU R\pÅ y}ãO 
W¥ j}¨U R\áLjLp].

d)  j]sv]sOç yUvqe¾]jV kOrSo, DÐf v]h|Ln|Ly òLkj°t]¤ kqoLvi] 10
wfoLjU yUvqevOU yLÒ¾]WoLp] k]ÐL¨U j]¤¨OÐ v]nLY°¥ V̈ y¡¨L¡ 
fñ]WWt]¤ NkLqUn r]NWPŸVRo£OU SnhYf]p]¤ j]¡SÇw]¨OÐO.
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71. Value of 
37 3

34

2 2−

A) 34 B) 36 C) 38 d) 40

72. If 4
4
11

16
11

2 3 1 2 0÷ − − − −[ ] + =( ) x , what is the value of x ?

A) 2 B) 3 C) 4 d) 5

73. x is 125% of y. If x + y = 90, then the value of 2x – y is equal to

A) 40 B) 50 C) 60 d) 70

74. A salesman earns a profit of 25% after giving a discount of 25%. Find the ratio 
between the marked price and the cost price.

A) 5:3 B) 2:1 C) 4:3 d) 3:2

75. Five people can cut 20 trees in 2 days. If twenty people work for 3 days, then how 
many trees will be cut during this time ?

A) 60 B) 90 C) 120 d) 150

76. How many times the digit 2 appears in the first 52 whole numbers ?

A) 14 B) 15 C) 16 d) 17

77. In a certain code language EdUCATION is written as JHPFBNRdB. How will 
mEdICINES be written in that code language ?

A) ZJHRXRBJm B) yJHRXRBJP

C) ZJHRXRBJl d) XJHRXRBJN

78. The product of 3 consecutive integers is always divisible by

A) 4 B) 6 C) 8 d) 10

79. A man walked 25 ft towards North, then took a right turn and walked 25 ft. He again 
took a right turn and walked 50 ft. How far and in which direction is the man from 
the starting point ?

A) 25 ft to the South-west B) 25 2  ft to the South-west

C) 15 ft to the South-west d) 15 2  ft to the South-east

80. The angle between the minute hand and hour hand of clock when time is 3:20 is

A) 20° B) 30° C) 40° d) 50°
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71.
37 3

34

2 2−
R£ oPs|U.

A) 34 B) 36 C) 38 d) 40

72. 4
4
11

16
11

2 3 1 2 0÷ − − − −[ ] + =( ) x BReË]¤, x R£ oPs|U IÍLeV ?

A) 2 B) 3 C) 4 d) 5

73. x IÐfV y pORa 125% BeV.  x + y = 90 BReË]¤, 2x – y pORa oPs|U Jf]jV fOs|oLeV ?

A) 40 B) 50 C) 60 d) 70

74. 25% W]u]vV j¤W]p SwxU KqO v]¤Õj¨Lq¢ 25% sLnU SjaOÐO. v]ke] v]spOU 
R\svV v]spOU fÚ]sOç AjOkLfU WRº¾OW.

A) 5:3 B) 2:1 C) 4:3 d) 3:2

75. 2 h]vyU RWLºV AµV Sk¡¨V 20 oq°¥ oOr]¨LU. CqOkfV Sk¡ 3 h]vyU S^Ls] 
R\pÅL¤, CT yop¾V INf oq°¥ oOr]¨OU ?

A) 60 B) 90 C) 120 d) 150

76. Bh|R¾ 52 kP¡¹ yUX|Wt]¤ 2 IÐ A¨U INf fve hQw|oLWOU ? 

A) 14 B) 15 C) 16 d) 17

77. KqO NkSf|W SWLcV nLxp]¤, EdUCATION IÐfV JHPFBNRdB IÐLeV IuOf]
p]q]¨OÐfV. B SWLcV nLxp]¤ mEdICINES I°Rj IuOfLU ?

A) ZJHRXRBJm   B) yJHRXRBJP

C) ZJHRXRBJl   d) XJHRXRBJN

78. fOa¡ˆpLp] 3 kP¡¹yUX|WtORa YOejU ISÕLuOU ________ RWLºV w]ìo]sæLRf 
zq]¨LjLWOU.

A) 4 B) 6 C) 8 d) 10

79. KqL¥ vaS¨LŸV 25 Aa] jaÐO, k]Ð}aV vsS¾LŸV f]q]´V 25 Aa] jaÐO. ApL¥  
v}ºOU vsS¾LŸV f]q] V́ 50 Aa] jaÐO. B ojOx|¢ ðL¡Ÿ]UYV SkLp]£]¤ j]ÐV INf 
hPRqpLeV, JfV h]wp]sLeV ?

A) Rf¨Oka]´LrLp] 25 Aa] B) Rf¨Oka]´LrLp] 25 2 Aa]

C) Rf¨Oka]´LrLp] 15 Aa] d) Rf¨O W]u¨Lp]15 2  Aa]

80. yopU 3:20 Bp]q]¨OSÒL¥ S„L¨]R£ o]j]ãV yP\]¨OU oe]¨P¡ yP\]¨OU Cap]
sOç SWL¦

A) 20° B) 30° C) 40° d) 50°
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81. Fill in the blank using correct tense form of the verb given in bracket. 
I ________ (stay) here till Sunday.

A) will stay    B) will have stayed  

C) will be staying    d) stay 

82. Choose the right option that suggests change in voice of the sentence.

 Please draw the figure.

A) You are instructed to draw the figure.  B) You are requested to draw the figure. 

C) You are ordered to draw the figure.  D) You are implored to draw the figure. 

83. Fill in the blank using suitable preposition.
I ________walk ten miles without getting tired.

A) must  B) should  C) can d) will 

84. Complete the following sentence using appropriate question tag.
It is not raining, _______

A) is it ?  B) isn’t it ?  C) will it ?  d) wont it ?

85. Combine the two sentences using suitable correlative conjunction. 
It is not useful. It is not ornamental.

A) not only...but also  B) both...and  C) neither...nor  d) either...or

86. Choose the synonym of the word italicised in the sentence from the given options.
He was killed in the battlefield.

A) Confiscate B) Slain  C) Outnumbered  d) defeated

87. Fill in the blank using appropriate gerund form of the word given in bracket. 

do you mind ________ (share) some pictures of your trip on Facebook ?

A) to share B) sharing C) being shared d) to sharing

88. Substitute the words underlined with a suitable phrasal verb.

The director summoned me and asked for an explanation.

A) send down  B) send for  C) send in  d) send on 

89. Fill in the blank using suitable preposition.
He felt no qualms ________ borrowing money from his friends.  

A) to    B) about 

C) for    d) no preposition needed 

90. Give the correct spelling of the adjective that means careful or taking great care. 

A) Conscientious   B) Conscintious 

C) Conscientius  d) Concientious
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91. fLRu RWLaO¾]q]¨OÐ kh°t]¤ wq]pLpv JRfsæLU ?

i) Aa]o¾U ii) RIé]WU iii) B^LjmLzO 

A) (i) oLNfU wq]  B) (i) DU (ii) DU wq] C) oPÐOU RfãV d) oPÐOU wq]

92. fLRu RWLaO¾]q]¨OÐ vLW|°t]¤ wq]pLp NkSpLYU JfV ? 

A) Ai|LkW¢ kb]¨L¾f]jV WOŸ]Rp wWLq]\ÿO.

B) kb]¨L¾f]jV Ai|LkW¢ WOŸ]Rp wWLq]\ÿO. 

C) kb]¨L¾f]jV WOŸ]Rp Ai|LkW¢ wWLq]\ÿO.

d) WOŸ]Rp kb]¨L¾f]jV Ai|LkW¢ wWLq]\ÿO.

93. fLRuR¨LaO¾]q]¨OÐ RRws]pORa o]W\ÿ ospLt v]v¡¾jU JfV ?

  little drops of water make the mighty ocean 

A) R\r]p Rvç¾Oç]W¥ w©oLp yoONhR¾ yQì]¨OÐO

B) ksfOç] RkqORvçU 

C) ká¾]ÐL¤ kjpOU f]ÐLU   

d) R\r]p Rvç¾Oç]W¥ S\¡ÐL¤ vs]p yoONhU

94. fLRu krpOÐvp]¤ k¡vf¾]jV kq|LpkhosæL¾fV JfV ?

A) \sU B) Y]q] C) jYU d) RRwsU

95. ^UYoU IÐ kh¾]R£ v]kq}fU JfV ? 

A) A^UYoU B) YoU C) ò]fU d) òLvqU

96. W¡xW¢ IÐ kh¾]R£ Nñ}s]UYU JfV ? 

A) W¡xW] B) W¡x]W C) W¡x]e] d) W¡xW

97. "RRWpLa]RpË]Ss vLpLaP' IÐ RRws] Sh|Lf]Õ]¨OÐ A¡ÀU IÍV ?

A) RRWpOU vLpOU KqOo]\ÿV Nkv¡¾]¨eU

B) NkvQ¾] R\RpÅË]Ss Dk^}vj¾]jV vu]pOºLWP

C) AS°LŸO R\pÅLSs CS°LŸO W]ŸP

d) S^Ls] R\áOÐvSj yUyLq]¨L¢ AvWLwoOçP

98. v]ºsU IÐ khR¾ k]q]R\ÿuOfOÐRf°Rj ? 

A) v]¦ + fsU B) v]º + AsU C) v]¦ + AsU d) v]º + fsU

99. "WÆS¾LaV SjqLp o]u]pOçv¥' IÐf]R£ wq]pLp yoLyU JfV ? 

A) WÆo]u] B) WÆo]u]pL¥ C) WÆSj¡o]u]pL¥ d) WÆSj¡o]u]

100. fLRu RWLaO¾]q]¨OÐf]¤ yoLjkhosæL¾fV JfV ?

A) A°La] B) WSÒLtU C) BkeWU d) RfqOvV 
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S\Lh|°tORa BRW I¹U : 100 yopU : 90 o]j]ŸV 

  kqoLvi] oL¡¨V  : 100

S\Lh|kOñW AƒqSWLcV

         DSh|LYL¡À]W¥¨Oç j]¡SÇw°¥

1. S\Lh|  WasLôV j¤WOÐfV S\Lh| kOñW qPk¾]sLeV. a, B, c, d IÐ} jLsV Aƒq SWLcOWt]sOç 
S\Lh| kOñW°tLeV j¤WOÐfV.

2. S\Lh| kOñW¾]R£ oOWt]¤ CafV vw¾V NkSf|W SWLt¾]¤ S\Lh|kOñW Aƒq SWLcV Aˆa]̂ ]ŸOºV.

3. KLSqL DSh|LYL¡À]¨OU j¤W]p]ŸOç S\Lh|kOñW Aƒq SWLcV AvqORa kq}ƒL zLt]Rs Cq]Õ]
a¾]¤ SqXRÕaO¾]p]q]¨OU.

4. j]°¥¨jOvh]ˆ]q]¨OÐ Aƒq SWLc]¤ j]ÐOU v|f|ñoLp SWLc]sOç S\Lh|kOñWoLeV 
sn]¨OÐRfË]¤ AfV Daja] C¢v]^]SsãrORa èÈp]¤RÕaOS¾ºfLeV.

5. S\Lh|kOñW NWojÒ¡ kOrU \ŸpORa vsfOvw¾V oOWtã¾Lp] S\¡¾]ŸOºV. NWojÒ¡ CŠL¾  
S\Lh|kOñWoLeV j]°¥ V̈ sn]¨OÐRfË]¤ ASf Aƒq SWLc]sOç S\Lh|kOñWU oLã] vL°OW.

6. S\Lh| kOñWU vsfO oL¡^]j]¤ oÈ|nLY¾Lp] y}¤ R\pÅ]q]¨OU. D¾qRouOfLjOç AjOof]   
sn]ˆLsŠLRf S\Lh| kOñWU fOr¨L¢ kLa]Š.

7. kq}ƒ fOa°]pLsOa¢ DSh|LYL¡À] fj] V̈ sn]ˆ]q]¨OÐ S\Lh| kOñW¾]¤ 100  S\Lh|°tOU NWooLp] 
DSºL IÐV kq]SwLi]S¨ºfLeV. S\Lh| kOñW¾]¤ Aˆa]¨L¾SfL, W}r]pSfL, v]ŸOSkLpSfL 
Bp Sk^OW¥ DºLW]Š; AgvL DRºË]¤ A¨Lq|U C¢v]^]SsãrORa èÈp]¤ RWLºOvq]WpOU 
ASf Aƒq SWLc]sOç kP¡¹oLp S\Lh| kOñWU oLã] vL°OWpOU R\SáºfLeV. CfV JãvOU 
NkiLjRÕŸfLeV.

8. CT S\Lh|SkÕr]Rs 1 oOf¤ 80 vRqpOç S\Lh|°¥ CUYæ}x]sOU KTSh|LY]W nLxp]sOU (ospLtU)
Bp] A\ÿa]\ÿ]q]¨OÐO. CT S\Lh|°tORa A¡ÀU, f¡²o IÐ]v yUmÌ]\ÿ yUwp°¥ V̈ CUYæ}xV 
oLi|o¾]sOç S\Lh|°tLeV BiLqoL¨OÐfV.

9. S\Lh| kOñW¾]R£ AvyLj Sk^]jO RfLŸOoO¢kV KÐOU IuOfL¾ qºV Sk^OW¥ S\¡¾]ŸOºV. CfV 
D¾qU WºOk]a]¨OÐf]jOç  WOr]ÕOW¥¨Lp] DkSpLY]¨LvOÐfLeV.

10. D¾q°¥ SqXRÕaO¾L¢ BqUn]¨OÐf]jV oOÒV D¾q¨asLy]R£ orOkOr¾Oç j]¡SÇw°¥ 
èÈLkP¡‹U vLp]¨OW.

11. wq]pO¾qU D¥RÕRa KLSqL S\Lh|¾]jOU (A), (B), (C), (D) IÐ jLsV D¾q°¥ fÐ]q]¨OU. wq]
pO¾qU RfqR´aO¾V K. IU. B¡. D¾q¨asLy]¤ mÌRÕŸ S\Lh| jÒr]jV SjRqpOç wq]pO¾qU 
yP\]Õ]¨OÐ WOo]t (mm]¥) oLNfU j}sSpL WrOSÕL mL¥ SkLp]£V Skj DkSpLY]ˆV WrOÕ]¨OW.

12. KLSqL wq]pO¾q¾]jOU KqO oL¡¨V sn]¨OWpOU KLSqL RfãO¾q¾]jOU 1/3 oL¡¨V jìoLvOWpOU 
 R\áOU. D¾qU SqXRÕaO¾L¾ S\Lh|°¥¨V oL¡¨V jìoLvOWp]Š.

13. kq}ƒL yopU Wu]pOÐf]jV oOSÒL, D¾q¨asLyV C¢v]̂ ]SsãRr J¤Õ]̈ LRfSpL KqO DSh|LYL¡À]pOU 
kq}ƒLzL¥ v]ŸV kOr¾OSkLWL¢ kLa]Š.

14. j]¡SÇw°¥ W¡wjoLp] kLs]S¨ºfLeV. kq}ƒp]¤ NWoS¨aV ja¾OWSpL Af]jOç èoU 
ja¾OWSpL R\áOÐ DSh|LYL¡À]WRt ASpLY|qLp] NkX|Lk]¨OÐfLeV.

S\Lh| kOñW NWojÒ¡
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